
www.mathssandpit.co.uk/blog 
 

Area of a sector 

Give all sector areas in terms of π and to 2dp 

 
Circle Area of circle 

(in terms of π) 

Angle in 
minor sector 
(in degrees) 

Area of minor sector 
Angle in major 

sector 
(in degrees) 

Area of major sector 
Area of minor sector 

+ Area of major 
sector = area of circle 
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D = 20cm 

A=πr2 

r = 10 
A = π × 102 

A = π × 100 
A = 100π cm2 

 

40 

A = ସ଴

ଷ଺଴
× 100𝜋 

A = ସ଴଴଴

ଷ଺଴
× 𝜋 

A = ଵ଴଴గ

ଽ
 

A = 34.91 cm2 

360 – 40 = 
320 

A = ଷଶ଴

ଷ଺଴
× 100𝜋 

A = ଷଶ଴଴଴

ଷ଺଴
× 𝜋 

A = ଼଴଴గ

ଽ
 

A = 279.25 cm2 

 
 ଵ଴଴గ

ଽ
 + ଼଴଴గ

ଽ
 = ଽ଴଴గ

ଽ
 

 
 = 100π     
 
 

1 

D = 16cm 

A=πr2 

r =  
 50 

A = 
 

ଷ଺଴
× ______𝜋 

 360 – ____ 
 
= ____ 

  

2 

R = 30mm 

A=πr2 

 
120 

A = 
 

ଷ଺଴
× 

 
 

  

3 

R = 2m 

 

90 

 

 

  

4 

D = 3 miles 

 

 

 

200 

  

 


